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Our Presence

Nomitech operates through@lobal Partner Network

Our Partner network grows rapidiyough Nomitech or our strategic partners

] nomitech

Mew Open Mind Technologies

Nomitech is incorporated
In the UK and Greece and
licensed In KSA

Coverage Type

Company Strategic Nomitech
Incorporation Partner or VAD Partner
Base
Partner
under VAD
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You can prompt ChatGPT and get an estimate

I NEED A BUDGET
ESTIMATE FOR YOUR

PROJECT.
THAT TLL SHOUT
) ONE BILLION DOESN'T NUMBERS

PLEASE
STOP
BEING

YOj‘ ELEVEN

SOUND AND YOU
R BB REASON— CAN STOP ME

ABLE. WHEN ONE

SOUNDS
REASONADBLE.

At the end you get the number you want!



What Is the problem with that?




Back to the Basic®What t

or bid/tender

anarj:r ) Secondary Characteristic
Characteristic
MATURITY LEVEL E:EECT';D OREPARATION
ACCURACY
OF PROJECT END USAGE METHODOLOGY RANGE EFFORT
DEFINITION . . L )
ESTIMATE CLASS Typical purpose of Typical estimating Typical +/- range Typical degree of
DELIVERABLES estimate method relative to index of 1 | effort relative to least
Expressed as % of (i.e. Class 1 estimate) | ~ cost index of 11!
complete definition 2]
Stochastic
Screening or factors and/or
Class 5 0% to 2% ning ( / 4t0 20 1
feasibility models) or
judgment
Concept study or Primaril
Class 4 1% to 15% p‘ - Y y 3to12 2to4d
feasibility stochastic
Budget Mixed but
Class 3 10% to 40% authorization or primarily 2to 6 3to 10
control stochastic
Control or Primaril
Class 2 30% to 75% . iy 1t03 5 to 20
bid/tender deterministic
Class 1 65%to 100% | checkestimate | o inistic 1 10 to 100

Notes:

[a] If the range index value of "1" represents +10/-5%, then an index value of 10 represents +100/-50% (at an 80% confidence interval).
[b] If the cost index value of "1" represents 0.005% of project costs, then an index value of 100 represents 0.5%.

Table 1 — Generic Cost Estimate Classification Matrix

ypes of estimates EXxist?
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